SuMPO EPD SUMPOBRIESAIN OIS L

SE“MI':";"D - — R R A Y AT TI R EH ES
.. e 14T NBEEE (EPD) HABT REXPHE1-14-8
VERIFIED KANDA SQUARE GATE

EZ#FES . JR-Al-24662E https://ecoleaf-label.jp

FUJIFILM

Value from Innovation

BXIML EVRZX A/N-Y3 kR E"
FUJIFILM Business Innovation Corp.

FULFILM A3 :E / 0 l:l %E/IEI\*%%

A3 Monochrome Multifunction Printer

1 Apeos 5570 (Model-CPS-TTM)
(for US)

|

T

Apeos. Apeos 0T, LU ApeosPlus [§, BEIMIVAEIRAAM I N-Y 3V AR OB REIEXELAIETT,

HEHML BHRES JR-AI-24662E
BR1BHEY EAPCRES  PA-590000-Al-08
PCR% ERA H 138
HEMRERRE NSS! 202554 F30H
WS i&E O rhFE & RIEEEE 2025548218
OEMBRE QEE QOB @FEF - REEA YATLRIE AR
OFE - Ubro)L REES 2025-FB-EL-004
REEAESEAR 2030548208
HROBN, FTELFR-HET PCRLE1-DETE
B : Apeos 5570 (Model-CPS-TTM) HEHZ 20234 98 18
FEM4HR B/I0ESH (EPAR) ZER ®iE Ex
EDRIRE €70 55ppm (A4 LEF) (B — Mt EEAY AT IR E HEAS)
BARMEYAX SRA3 (320 x 450 mm). ESE/RIE BE ST
12 x 18" (305 x 457 mm), A3 HERIES
TS NIAE—/2F >
T E DRIt/ ADF(ERS BB 5RIAH) ISO14025(CHE > ARE B R UT -9 DI LR EE
ORWES [P
*YA5 LRITER B EENORTOB AR, YATLRIETLBERD
#ETER .

FMLahtk BEXIMIWALAESRIAAJIR—>3 kRatt

BEEmARAREHOV6T B1E
https://www.fujifilm.com/fb/

F#ES ¢ JR-AI-24662E


https://www.fujifilm.com/fb/
https://ecoleaf-label.jp

SuMPO SuMPO EPD SUMPOIRIEIANITOIS

E P D _ —REALEIE AN AT T IR B
" ..A SMTNIBEEE (EPD) ERBTREXAME-14-8
VERIFLED KANDA SQUARE GATE
BERES JR-A|-24662E https://ecoleaf-label jp
1TV 1 Y R E T MAER
< N - fE - #EFF
FRETERR | LSRR BB e BB
S[REEE-AET kg-COzeq 8.11E+02 2.36E+01 1.89E+02 3.16E+02 1.97E+02
AV ERBE kg-CFC-12eq 6.64E-05 3.91E-08 2.79E-08 7.32E-06 2.30E-07
EXRENL kg-PO4132-eq|  1.50E-02 4.70E-04 1.88E-04 9.78E-03 5.07E-04
424 kg-SO-eq 2.06E+00 1.69E-01 2.30E-01 1.17E+00 2.53E-01
KEAXIIVE kg-CzHseq 1.68E-02 1.97E-05 1.53E-03 2.22E-03 1.24E-03
FEYME RS- kg-Sbeq 7.45E-01 9.36E-05 1.40E-05 8.74E-02 1.07E-04

11 IIWAIRY U2 RBEEER
—REBOERICET BIER

RREEEE | WEEE | GREE ﬁzrf:ﬁ FRER
BATR—RER MJ 1.57E+01 3.53E-03 2.52E+02 6.74E+02 3.05E-02
FBEARE—RER MJ 1.68E+03 2.71E-01 2.84E+00 4.82E+02 1.56E+00
BEARE—RIRIF- MJ 1.54E+03 2.15E+02 1.05E+01 1.24E+03 1.89E+02
FEBEAE—RIRIF- MJ 1.31E+04 8.53E+02 2.11E+03 6.19E+03 1.29E+03
HKDHER m?* 4.30E+00 1.62E-02 2.65E+01 7.15E+01 5.49E-02

HEEFRICATZEMER
KEEARATRELTEELELE,
EEMEPHR)DZEYFUATEELTVET,
B RO EERARIESERMTT,
(EF - SRS (LB T ZENRIB RO BT IEEFNE A,
(EABOEA . IRIVF-AY-T0J54Ver3.2 (SA>THELETECHEZ TICEELELE,
-AEENRIMEL L. 451,200 TF
1/4 x 32(J37/8) x 47(1/937) x 5(H) x 408) x 12(5 B) x 5(£F) = 451,200(1%)

ZODREEEEIR
IRNF-AF-T0Y5LVer3.2 #E,

MRS LCHEICET 3RS FERALEZRTF-9DEZA

HE-9E (ERES) BfT [REEAI(E, LCIT—HR—XIDEA Ver.3.4. SUMPORIESAI OIS LBERT -4

=E &7 kg Ver.1.15ZEALTVET,
Ssus 0.50 kg
PIIZUL 0.30 kg
kulick 52 kg
TI3AFvY 41 kg

A2 20 kg -

- AR 10 kg
&R BREAR 38 kg
i 39 kg
Z0fth 3.0 kg

OT-YEENHEL. PCRELUVEE - EEMREESBL LI,
OLEIIOVWTUE, BE - EERBRICRESNEEZHEBLLEBELLARDONE A,
(BEBFURL : https://ecoleaf-label jp/regulation/)


https://ecoleaf-label.jp/regulation/
https://ecoleaf-label.jp

